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So what is up with this
‘Bayesian’ analysis stutt?
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... welcome to

BAYESIAN ANALYSIS
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.. and it all starts

with the likelihood



the (random) hand of failure
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the (random) hand of failure
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f(x) or the
probability density function (PDF)
gives the relative probability
that a continuous random variable is
equal to a specitic value
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.. SO0 what is ditterent
about Bayesian
analysis?



/... itis with 90 per
" cent confidence that |

| say that the
~ mission reliability is
\_greater than 0.99 ...
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.. GREAT!

.. SO there is a 20 %
chance reliability is
greater than 0.99!
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I SAID LN
/... itis with 90 per \
/cent confidence that \
| say that the

t mission reliability is
greater than




what?



.. SO0 what is the probability
that mission reliability is
greater than 0.997



.| don't work







~. but for every ™

10 times | say
something with
'90 % confidence'

you would expect

\  me fo be wrong / =
once. / {
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goO away



requentist probability

.. but if you then go and use a 90 %
pvobability of the veliability exceeding 0.99 in
your business case and decision-mak-ing



requentist probability

. You pretend is equivalent to ..

subjective probability



- hurman beings

subjective AND
1k Bayesian analysis
probablh’ry ave all about
subjective

probability




.. SO it you do this (and
you probably do) then

you are doing a ‘weird’
case of Bayesian analysis
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. that is if you use
the FREQUENTIST &
PROBABILITY as if it =
is & SUBJECTIVE
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.. SO it you do this (and
you probably do) then

you are doing a ‘weird’
case of Bayesian analysis



.. and Bayesian analysis
can help you solve

A LOT MORE
PROBLEMS



. we sent out a
quick-, one duestion
electvonic suvvey to

1000 custormers

.. one test showed

| out of 20 products
had a defect
S %, . we got 45
negative

vesponses!



. let's say that our mavk-eting team
believe that theve is a

00 %

probability that a custormey with a

defective product

will write a negative vesponse




. let's say that our mavk-eting team
believe that theve is a

| %

probability that a custormey with a

non - defective product

will write a negative vesponse
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.. We are
surrounded by
information



... | never have
enough data ...




Bayesian statisticians insfead
complain that we don't use
the information that we have
well enough






